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FELSŐFOK


1. Nyelvhelyesség
Válassza ki a helyes megoldást, és a megfelelő betűt helyezze el a táblázatban! (A 0-val jelölt sor a minta). Szótár nem használható. 

Gender bias and poverty

...0...  between men and women results in poorer health for children and greater ...1... for the family,  ...2... to a new study. The UN agency Unicef found that in places where women are excluded from family decisions, children are more likely to suffer from malnutrition. There would be 13 million  ...3... malnourished children in South Asia if women had an equal ...4... in the family, Unicef said. 

Unicef ...5... family decision-making in 30 countries around the world. Their chief finding is that equality between men and women is vital to ...6... poverty and improving health, especially that of children, in developing countries. The conclusions are contained in the agency's latest report. This report points to a greater ...7... of opportunities for girls and women in education and work which contributes ...8... disempowerment and poverty. Where men control the household, less money is spent on health care and food for the family, which ...9... in poorer health for the children.

An increase in employment and income-earning opportunities for women would increase their household power, the report said. For example, the agency found that ...10... has the greater share of household income and assets decides whether those resources will be used for family needs. 

(http://www.usingenglish.com)

	
	A
	B
	C
	
	

	0
	Unequal
	Inequal
	Inequality
	Unequality
	C

	1
	poor
	poorness
	poverty
	impoverished
	

	2
	resulting
	according
	regarding
	with regard
	

	3
	more
	few
	least
	fewer
	

	4
	say
	speak
	tell
	talk
	

	5
	survey
	surveying
	surveys
	surveyed
	

	6
	increase
	reduce
	reducing
	increasing
	

	7
	lack
	lacking
	lacks
	lacky
	

	8
	in
	to
	for
	with
	

	9
	leads
	result
	lead
	results
	

	10
	whatever
	whoever
	whichever
	however
	


Megszerezhető pont: 10

Megoldási idő: 30 perc

A 2. és 3. feladat megoldására rendelkezésre álló idő: 90 perc. Szótár használata megengedett.

2. Olvasott szöveg értése – közvetítése

Tömörítse magyar nyelven az alábbi szöveget 150-200 szó terjedelemben! 

Can Polar Bears Keep Their Heads Above Water in a Warming World?

Polar bears are classified as marine mammals like a seal or a walrus, which might come as a surprise given that they’re usually pictured on land. But polar bears spend a lot of their time in the waters of the Arctic, fishing or swimming among the sea ice. They may look awkward in the water, but no creature with paws is a better swimmer.

They’d better be. Arctic sea ice is declining fast, robbing the polar bear of its prime habitat and forcing them to swim longer and longer distances to reach solid ground. No other animal seems to be such a direct victim of warming, which is one reason why the polar bear has emerged as the symbol of climate change. It’s a simple narrative to grasp: carbon warms the climate, Arctic sea ice melts and baby polar bears drown.

But it turns out it might not bethat simple. A new study by scientists at the U.S. Geological Survey (USGS) underscores the fact that polar bears really are amazing swimmers—so good that biologists were able to document 50 swims that cover an average length of 96 miles. The research provides clues that polar bears may be able to keep treading water even as climate change melts their habitat.

The researchers, who published their work in the Canadian Journal of Zoology, followed 52 female polar bears in the Arctic Ocean north of Alaska from 2004 to 2009, using radio collars that could track the movements of the animals. They then compared the paths taken by the bears with maps of shifting sea ice over the same period of time, and found that the polar bears were world-class marathon swimmers. 

It’s not clear if the long-distance swims are a new part of the polar bears’ lives, due to melting Arctic sea ice, or if they’ve always swum so much.

It’s worth considering the new study in the light of recent research that indicates the polar bear may be considerably older as a species than scientists thought. Scientists had believe that polar bears branched off from brown bears 150,000 years ago, but Researchers in Science early this month published a DNA study arguing that the polar bear actually split off from the brown bear about 600,000 years ago. That older ancestry means that polar bears—distinct from brown bears by their white coats and webbed paws—have survived through earlier warming periods in the past. But the genetic evidence also indicates that the polar bears’ suffered when the weather was warm and their numbers dwindled. There’s no certainty they’ll survive the next warm period—one that’s fast upon us.


(http://ecocentric.blogs.time.com)

Megszerezhető pont: 15 pont
3. Íráskészség 

Korunk egyik népbetegsége a kóros elhízás. Fejtse ki véleményét a problémával kapcsolatban 250-300 szó terjedelemben!

A kifejtésben érintse a következő kérdéseket!

- Mit gondol, mennyire jellemző vagy általános napjainkban ez a probléma?

- Mik lehetnek az elhízás okai?

- Milyen további betegségek kialakulásához vezethet? 

- Hogyan lehet megelőzni illetve ha már kialakult, hogyan lehet kezelni? (életmód, helyes táplálkozás szerepe, divatos fogyókúrák)

Megszerezhető pont: 25 pont
Értékelési szempontok szerinti megoszlás: 


kommunikatív érték: 15


nyelvhelyesség: 5


szókincs: 5

